Jooooooogo
Jubogoodgboogbood

000 OO0 (intermission)



Jooooooogo
Jubogoodgboogbood
000 OO0 (intermission)

Joooogbooon



Taylor U0 OO0 O0O00O00OO0OOOOOODOODO

gbooobooood

ggbobbuoooobbooogon

goobooooodad

ggoboboogooboboooon
gboogoogo

—00o BIOOOOOO 1—



O00 Taylor DO O ODOOOOO

goooooooogo
{o (x < 0)

ex (x>0)

—00o BIOODOOOO 2—



O00 Taylor DO O ODOOOOO

gooooogdgoon

ex (x>0)

{o (x < 0)

0o0of™o)=0(n=0,1,2,...)
0000000 TaylorD OO 0

00000 x>000 f(x)#0

—00 BIOODOODOO



O00 Taylor DO O ODOOOOO

gooooogdgoon

1.57 exp(-1/x) —
1

H

0.5¢

0 1L 2 3 4 5 6 7 8

—00o BIOODOOOO 3—



gobooboood

gobooooobouogoobd

—0o0 BIOODOOOO  4—



goobooooboooodon

Yy =expx &< x = logy

log(exp x)
exp(log x)

X
X

—00 BIOOOOOO 5—



goobooooboooodon

4 -
3
2
/1 /
-2 -1 1 2 3 4
1 exp()):)
log(x)
_2 L

—00 BIOODOODOO

6—



goooo

goooo

y=expx U gon
dy
a—y
googo

y=logx OOOOO

o
=1 t

gooo

—00 BIOODOODOO

7T—



goooo

goooo

y=expx U gon
dy
a—y
googo

y=logx OOOOO

o
=1 t

gooo

— 0boogboggog

—00 BIOODOODOO

7T—



Ub00 y=sinx 0O00OO00O0DO0O0

godooodooogooodgn
g (L T
dx

gooo

—0o0 BIOODOOOO 8—



y=sinx JO OO y=arcsinx

sin(x) pi2
X e 1 .....
arcsin(x) |
-pi/2 -1
1 pi/2
-1
-pi/2

—00 BIOODOODOO



y=arcsinx 0O OO0

%:\/1—%
dy
0
du — dx
Y= vV1—x2
gogdo
_J dx
Y V1 —x2

—00 BIOOOOOO



y=arcsinx 0O OO0

dx
O0vy=|——00000gogno
K J\H—xz

gboboboooobbodo

. J" dt
arcsinx =
t=0 V1 —t?

gboodg

x=0000 arcsin0=0000 sin0=000000

oOooooo oobooo

—0o BIOOOOOO 11—



y=arcsinx 000000 Taylor OO

_ J" dt
arcsinx =

=0 V1 —12
dodoodoooonooogno

i (:L%) (—t2)™ dt

n=0

X

arcsinx = J
t=0

_ i (=1 (_%>X2n+1
o 2n+1\n

—00 BIOOOOOO



y=arcsinx 000000 Taylor OO

arcsinx = JX i (_n%> (—tH)™ dt

0

1 3 5 5 5
=X+ X"+ X+ =X+

6 40 112

—00 BIOOOOOO



y=sinx JOOO y=arcsinx

e JOODO—-1<x<1

7T s
7 <y<50000

gdn—
* 2

x dt
° DDDDDarcsinx:J
t—0 V1 —12

1
g

e (arcsinx) =

—00 BIOOOOOO



goon

arcsin DO OOO0OOO0OO0OO0OO0OOOOO
y =arctanx O Taylor DO O OO0

(1) x=tany OO0OOOOOOODODOODO
(2) arctanx OO OO OO

(3) 000000 TaylorOOOODOOOOO

—0o0 BIOOOOOO 15—



y=tanx OO0 y=arctanx

tan(x)
X F
arctan(x) ——
B 17 S S
pil2 0
P2
"""""""""""" -pii2

—0o0 BIOOOOOO 16—



y=tanx OO0 y=arctanx

e DD OOODO x

7T

2<y<EDDDD

ooo—
* 2

X
oDDDDDmdmx:J _dt

1
14+ x2

e (arctanx) =

—00 BIOOOOOO



00000 arcsinx,arctanx 0 0 0
Taylor 00000000 100000

—0o0 BIOOOOOO 18—



00000 arcsinx,arctanx 0 0 0
Taylor 00000000 100000

arcsinx 0000000 |x<10000
oooooogoon

—0o0 BIOOOOOO 18—



00000 arcsinx,arctanx 0 0 0
Taylor 00000000 100000

arcsinx 0000000 |x<10000
oooooogoon

arctanx U000 Ooooooooooo
OO0 xl<1O0000COO0O0O00

goooo gogboboogooon

1+ t2

—0o0 BIOOOOOO 18—



1
00 ——=1—x+x>—x>+---
1+x

;1/(1+x) —

2 10 1 2 3 4
x=-10000 0— 000000
—O0oO BIODOODOOO 19—




gooooooooooooooo
arctanx U OO0 QO OO0O0OO

—00 BIOOOOOO 20—



gooooooooooooooo
arctanx U OO0 QO OO0O0OO

gobooo Ot=£0000 0

1+ t2

—00 BIOOOOOO 20—



gooooooooooooooo
arctanx U OO0 QO OO0O0OO

gobooo Ot=£0000 0

1+ t2

000 k=100000000000000
(I1=il=1)

—00 BIOOOOOO 20—



goboooodgdn

Im
o)

0 a Re

o |l = Vox = Va2 + b2
Oo OO0O0O (absolute value)

e argax =00 « 00O (argument)

e & = |x|(cosO + isin0)

—0o BIOOOOOO 21—



2 3

x 1 X° X
e =THx 54 gt

Uxogboboooogogn

—0o0 BIOOOOOO 22—



Xz X3
e =THx 54 gt
00x000000000
0000000000000

gboobobboboobooboobon
ooooo

—0o0 BIOOOOOO 22—



2 3

x 1 X° X
e =THx 54 gt

Uxogboboooogogn
e gooobooooon

gboobobboboobooboobon
ooooo

x goooooogd
e uguobbooogobobo

U— 00b0o00booboobgd

—0o0 BIOOOOOO 22—



oooo
(iX)2_+_(iX)3 (ix)*

e =14+1x+ o1 3 + a0

) x> x°
+wG—§+§—m)

= cosX +1isinx

—0o0 BIOOOOOO 23—



oooo
(ix)? +_(iX)3 (ix)*

e =14+1x+ o1 3 + 1]

) x> x°
+w@—§+§—m)

= cosX +1isinx

Euler0 00 0 e™ = cosx + isinx

—0o0 BIOOOOOO 23—



gobooooodn

Im
a=a+bi
bt---ceoe o5 .
Y o
0 a Re
T = | "
o000 o=ret
0:=argx

o OOooon
—00 BIOODOOO 24—



goboooogoooo

e =cosx +1isinx

—ix

e " =cosx—1isinx
eix_|_ efix
COSX = ——
2
eix _ e—ix
siny = ———
21
eix - efix
tanx =

ife™ + e ™)
—00 BIDODODOO

25—



goboooogoooo

eix + e—ix
COSX = —————
2
. eix _ efix
siInX = ———
' 2i
eix o e—ix
tanx = <
l(etx + e—lX)
ooogooon

gbobbooogbbbuoooobbbd

obo0 «—00o0od
—00 BIODOOOD



goooo

e*+e*
coshx = ————
2
X —X
) —e
sinhx =
2
e —e *
tanhx = ———
eX +e X

—0o BIOOOOOO 27—



goooo

e*+e*
coshx =
2
. e —e *
sinhx =
2
e —e *
tanhx = ———
eX +e X

e U UOOOODOOOODO
e DO UOOOODODDOOO

—0o BIOOOOOO 27—



x*+y?=10000000 (cost,sint)

/1 (cos t, sin 1)
N
1 x2+y2:1

—00 BIOOOOOO 28—



x!—y?=10000000 (cosht,sinht)

(cosh ¢, sinh 1)

x*-y*=1

—0o0 BIOOOOOO 29—



